QUESTION 10-

B

CGreenns

ok ¢ \ot‘\\ﬁf‘)

oo

aco
A \\

1, L\j ¢ ENTS

- {easible
{(("_);Cl‘\\

bt e \CPLS

O,

i~ e iy LN

o0 WO 300 ol SCW

foara ber  of cenrong of (uod >



{ > - = ) Al (SR TN Tﬂ.. S LA e N ~ o | o
el the 3 Loy Jom ARG Sy w_ S i
1

14 y= 2 | 3 -
AQ/V M.J = M7 e/

|
!
~ = > .(V \
s
- |
S €AY urJ T .nd i o
2y Sa 85 ¢ [AN M _ =
A E _ TPy 7 (2R -8)
El T i ﬂ.J [ N !

5 v = I v -
oP L (S X - WV = O - 4 I | Wiy 1S MARES \\,,J_. ¥
I _ - % } o e sty
) o N ! S 7 e )
o .- = (> ” ) \ . & a

3¢ h,G V,J i B G e :w./ (e rCm , L o, X 7 ‘
R R N "™ i = | r\ t\w | 15 Jz \ \\
= O o @ ‘ S 6 [ /]
~ K N X v
durberg @t 10 e S ANCY i
T . durﬁnﬂx ~% o+ . X2 %+ R _
CC MAaxkimwen ﬂvﬂOCfF, l.“m. Lt [ N - g L o4 2 X... = ,m P M NT/V
2.0 0 : 4 (b
kL A g
X - < i 3 . s {
, s =27 (e e B el + 1D (D) (O = 00U ©
~ A ! i
[ 2 Y ¢ X , . ! -0 N
J Tt - Rav e , _ o * s (s _.,wu,\ F(2)  Hac s )
,. T - w 200 LTl [ 5
. ; i . Mo =4 o .
e R P S 26 - | Lndiany e ineens <
<R /u = | _— = 'S M e *
R r\\ = ) \\ 5 . MW\
x=zh s 2 du ¢ = 3 % O =00 )
. = C ] e i i A
e L g g ),\. \w f,umu 200 = X ﬁk.k
2 s Va2 L X3 p\ _ P )
1203 2 Lk : . 2. e
.(VUNCD - « IS 7 | sz i a%
. ~ s Fa2,3: 05
G o7 | e ion Qe = | o
- ~ -~ e, ~ En ) b [ERRS. N o
= v ] Aw, = KA “ o ] - - = Fru.,u 2O
- i N CTE ~ , 2 5 5> ‘ o o = 200 A T
Flammum o 7 o L A - T A S — oY /o x= T+ 10y 20
v ¥ _— & ~ P / .
% s W =200 - N
| Sl &
e N
d=¢ v ) ]
h e - X S o
| n o= (5 s - a < TS hu\ ] Q e G\
- ! J Ofa J s -
< LS mw 262 vnv = T 1
DS e o X /v
2 _ 5 . N# vy TS «r 6. 2
- 1S A! \e A <V LS Z b 2



)
~

Y log = ~0,9(3)+ .

N
ol
- _:N)\mu e

"

Uv(; L AN N UMM ber o nqn:,,.nfm“rxﬂrnum

per yTar o ey :‘,o,my;s.&m.(

1

qreaves tham of equut Lo

fou N IQNO;WJ*:“._,C_

C

v

(i e ﬁd @ n:.nfnmizrnam =




